DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH 5 N o

3 —42805 + 5 = 16 86.0+5 =

320 —3710 =5 = 1) —06740 = 5 =
33 —2058 = 5 = 18) —19740 - 5 =
) —45670 =5 = 9 —=56.6+05=
35) —834 =~ 5 = 500 —4830 -5 =
36) —555.5 = 5 = s —3008.5 =5 =
5 —494.85 ~ 5 = 2 —3624 =5 =
38) —13445 — 5 = 53) —288.25 =5 =
39 132 =5 = ) —1793 =5 =
10) —47.5 =5 = 5 —386.15 =5 =
1) —AT740 = 5 = 56) —49385 + 5 =
2 —3934.5+5 = M —4045 +5 =
) —1080.5+5 = M —=4579 =5 =
1) —37155 =5 = 9 —3907.5 +5 =
15) —1403 =5 = 00) —43610 -5 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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